
Solar Power Generator 

 

Blue Link 480 

Shipment Acceptance and  
Installation Guide. 



 
Copyright © 2005 Blue Link Solar Network LLC All rights reserved 
 
 No part of this document may be reproduced, stored in a retrieval system either digitally or 
otherwise, transmitted, in any form or by any means, electronic, mechanical, photographic, 
magnetic or otherwise, without the prior written permission of Blue Link Solar Network 
LLC. 
 
 Blue Link Solar Network LLC makes no representations, expressed or implied, with respect 
to this documentation or any of the equipment and/or software it may describe, including 
(with no limitation) any implied warranties of utility, merchantability, or fitness for any par-
ticular purpose. All such warranties are expressly disclaimed. Neither Blue Link Solar Net-
work LLC nor its distributors or dealers shall be liable for any indirect, incidental, or conse-
quential damages under any circumstances. 
 
 (The exclusion of implied warranties may not apply in all cases under some statutes, and 
thus the above exclusion may not apply) 
 
 Specifications are subject to change without notice. Every attempt has been made to make 
this document complete, accurate and up-to-date. Readers are cautioned, however, that Blue 
Link Solar Network LLC reserves the right to make changes without notice and shall not be 
responsible for any damages, including indirect, incidental or consequential damages, 
caused by reliance on the material presented, including, but not limited to, omissions, typo-
graphical errors, mathematical errors or listing errors in the content material. 
 
 
Revision: 
 
 
 
 
 
 
 
 
 
 
                                 Blue Link Solar Network LLC 
                                    25 Limerick Road, Suite. 1 
                                         Arundel, ME 04046 
                                       www.bluelinksolar.net 
                                       info@bluelinksolar.net 

Rev. No. Date Comments 

0.5 Aug 3, 2005 Release 



                          Table of Contents 
 
 
Title                                                                      Page 
 
 
Section I       Before Accepting Shipment              1 
 
Section II      Before You Begin                              2 
 
Section III     Installation                                        4   
     
Section IV     Operation                                          7 
 
Section V       Registration                                      8 
 
Permanent Foundation Sample                              9 
 
Warranty                                                                    10 
 

 
This symbol designates using extra caution or two people required 
to performing a step. 
 
Blue Link Solar Network LLC encourages recycling of all ship-
ping materials.  Please do your part to help the environment and 
dispose of all packaging materials properly. 



          
 
 
 
 
 
 
 
 
             Section I. Before Accepting Shipment 
 
 
Prior to signing the shipping paperwork for your Bluelink 480, please in-
spect and note any damage.  
 
If the package contains a “Shockwatch” Label, indicate the condition 
noted on the label. 
 
Note any damage or other abnormalities to the corrugated cover or pallet. 
 
If anything abnormal is found, note it on the shipping paperwork before 
accepting your BlueLink 480. 
 
Request the delivery man to place your BlueLink 480 as close as possible 
to the permanent installation site. 
 
 
 
 
 
 
 
 
 
                                            
                                             Pg 1 
 
 



                    Section II. Before You Begin 
 
Please read this installation guide completely prior to starting. It is divided 
into (3) basic steps: Section III - Installation, Section IV - Operation, and 
Section V - Registration.  
 

To complete section III you will need the tools listed in Table 1, the hardware from 
the Accessory Package - Table 2, and the Angle Braces. The Accessory Package 
and the 4 Angle Braces are located on the pallet (Figure 1) 
 
Table 1. Tool List: 
 

1) Flat bladed (standard) screwdriver for staple removal -  un packing. 
2) 7/16” wrench for loosening shipping support nuts. 
3) 1/2” wrench for tightening angle brace bolts. 
 
 
Table 2.  Accessory Package Contents: 
 

 
 
 
 
 
 
 
 
 
 
 
 
Figure 1 shows your Blue Link still on the wooden pallet with the side PV modules 
deployed. Figure 2 gives the basic dimensions of your deployed Blue Link 480.  
                                                             
 
 
 
 
                                                        Pg 2 

   

 Blue Link Commission Data Card x1 

 Inverter Registration Card x1 

 PV Module Documentation x3 

 Warranty Card x1 

 5/16 x 3” Bolt x4 

 5/16 x 3/4” Bolt x4 

 5/16” Flat Washer x8 

 Test Cord x1 



 
 

 

 
 
     

 
 
 
 
 
 
 
 
 
 
 
 
 

                                                                    Figure 1                     
                                                       * The PV Module glass is transparent 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

                                                                                     Figure 2     
                       
 
 
                                                               Pg 3 

Angle Braces (x4) 
(located next to 
accessories package) 

North Face (x1) 

Module Supports (x4) South Face (x1) 
Center PV Module (x1)* 

Wooden Pallet (x1)  

Shipping Brace (x1)

AC Switch (x1) 

DC Switch (x1) 

Cross Brace (x2) 

Shipping Brace (x1) 

Inverter (x1) 

West PV Module (x1)* 
East  PV Module (x1)* 

Accessory Package 
and Angle Braces 



                            Section III. Installation 
Move BlueLink 480 in the carton to a position close to the intended permanent location. 

 
   DO NOT DROP YOUR BLUELINK 480! 

 
 
 
 
 
 
 
 
 
 
 
   
1. Remove staples with staple remover or flat head screwdriver. 
2. Lift cardboard cover from unit and set aside. 
3. Remove Angle Braces and Accessory Package, identify components and hardware, 

set aside. 
 
  TWO PEOPLE ARE RECOMMENDED FOR THE FOLLOWING STEPS. 
 

 
 
 
 
 
 
 
 
 
 
 
Place 2 Angle Braces & 2 each 5/16 x 3 bolts & 5/16 x 3/4 bolts along with washers 
close at hand before deploying modules.  
 
4. With the unit still bolted to the pallet, lift one PV Module by the bottom edge from 

the vertical position to the horizontal or “deployed” position. 
 
Note:  The 2 Module Supports (mounted under the PV Modules) each have 2 sets of 
screw holes. The side of the North and South faces each have a square hole and a screw 
hole. 

 
 
 
 

Pg 4 

Figure 4 

N 

North Face. 
Containing inverter 
and switches. 

South Face 

PV Module 

North Face 

 PV Module 

Module Supports 

Figure 3 

Accessory Package 

Angle Brace 



 
Both Angle Braces must be bolted in place before the person holding the PV Mod-
ule can release it. The PV Modules are glass and may crack if twisted. 

 
 
 
 
 
 
 
 
 
5. While one person holds the PV module in place, another person must insert the tab 

on the Angle Brace into the square hole on the side of the North and South faces  
      (Figure 5) 
 
6.  Once the Angle Brace Tab is through the square hole, slide it down so the screw 
hole lines up with the screw hole in the side of the face (Figure 6) 
 
 
 
 
 
 
 
 
 
 
7. Align the Angle Brace to the Module Support under the PV Module so the Angle 

Brace fits inside the Module Support. 
      Note: PV Panels will be located as shown in (Figure 2) 
 
8. Line up the outer most holes in the Module Support with the holes in the Angle    
      Brace (Figure 9)  Use the 5/16 x 3.0” bolts with washers under the bolt head to at      
      tach the Angle Brace and the Module Support together (Figure 10) 
 
9. Use the 5/16 x 3/4” bolts with washers to fasten the Angle Brace to the side of the 

face (Figure 7) 
 
10.  Repeat steps 4 through 9 for the remaining 3 Angle Braces (Figure 2) 
 
 
 
 
 
 
 
 
 
 

Pg 5 

Figure 5 Figure 6 

Figure 9 Figure 8 Figure 10 

Figure 7 



 
 
 
 
 
 
 
 
 
 
11. Remove the 2 nuts and washers that fasten each face to the shipping braces. 

 
After the 4 nuts are removed, do not move or jar your BlueLink 480. 
 

 
 
 
 
 
 
 
 

 
 
 

Unit weighs approximately 200 lbs. Make certain that there is an appropriate num-
ber of people to help lift the unit from the pallet to the ground, the face with  

        the inverter and switches is twice as heavy as the opposing face. 
 
12. With one person at each face,  lift the unit by the Center PV Module frame at the 

lift points indicated (figure 12) 
 
13. Carefully move the unit to permanent location. Secure to foundation with face con-

taining inverter and switches facing North. 
 
 
 

 
 
 
 
 
 
 
 
 
 

Pg 6 

Figure 11 

Lift Points 

1/4” Nut 

Shipping Braces 

Figure 12 

Lift Points 



 

Section IV. Operation       Wiring your BlueLink 480 to the grid. 
 
Note: Your BlueLink 480 has been pre-tested and operated prior to shipment, see the 
commission data card in the Accessory Package. 
 
 
B. Permanent Installation 
 
1) Contact your local regulatory agency (s) to determine applicable regulations for per-

manently mounting and wiring your Blue Link 480. 
 
2)   Select location for your Blue Link 480 with maximum exposure to sunlight. 
 
3) The Blue Link 480 is designed to fasten to a concrete footing (s) for permanent in-   
      stallation. Construct foundation according to local codes. The foundation dimensions  
       provided (Figure 15) are calculated to withstand 150 mph winds, the maximum en- 
       countered in the United States. The 1/2” anchor bolts shown must align with the   
       holes in the North and South faces of your Blue Link 480. The Blue Link 480 is  
       wider and longer than the recommended foundation size, so be sure to allow ample  
       clearance beyond the edges on all sides. 
 
4) After time for curing of concrete foundation, set your BlueLink 480 carefully over    
      the anchor bolts, tighten nut with flat washer to firmly secure your Blue Link 480 to  
      the foundation. The North face of your Blue Link 480 contains the inverter switches. 
 
5) The National Electrical Code (NEC #690.64.B1) recommends a dedicated circuit for  
       your Blue Link 480 Solar Generator. The international building code (IBC 2003)    
       provides foundation requirements. States and cities that provide rebates for solar  
       powered installations may require a building permit to qualify. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
                                                                                 Pg 7 
 



 
B. Testing your BlueLink 480. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Note: Make sure both AC & DC breaker switches are in the off position. 
 
1) Open the AC Switch Box cover and feed the Test Cord (from the Accessory Pack-

age) through a knockout hole in the side or bottom of the box. 
 
2) Connect the 3 identified wires (L,N&G) to the 3 identified terminals. L to L, N to N  
     and G to G. and close box. 
 
3) Plug the cord into any line 120 volt outlet. 
 
4) Switch the DC then the AC switch to the 
    “ON” position. Observe the LCD readout on the 
    face of the Inverter. After about 5 
    minutes, your BlueLink 480 will begin generating power, which will be indicated by    
    a continuous display on the LCD readout showing output values. 
 
 
Section V.  Registration 
 
Read the Inverter and PV module information in the accessory package, then mail in the 
Inverter Registration Information and the BlueLink 480 Registration Card found in the 
accessory package. 
 
 

 
 
 
 

Pg 8 

AC Switch DC Switch Inverter 

Figure 14 

Figure 13 



 

                                                                     Figure 15 
 
                                                                                                      Pg 9 
 
 
 

S 

N 



 
 
 
 
 
 
 
 
 
 
 

 
 
 
7-21-05  
 
 

Bluelink Model BL480 Limited Warranty 
 

 
What this limited warranty covers: 
 
This limited warranty covers the aluminum mounting components and the assembly of all the components, 
and warrants the materials and workmanship to be free from defects that will impede the design criteria for a 
period of five years from the date of first purchase by the original purchaser, when  installed per 
manufacturer’s instructions.  
 
This limited warranty covers only the cost of parts and or the labor required to restore or replace covered 
items to proper condition at the sole discretion of Bluelink Solar Network LLC.   
 
After obtaining a “return authorization number” send the faulty item(s) to the factory, freight prepaid with a 
copy of the original invoice for either repair or replacement. 
 
What this limited warranty does not cover: 
 
Defects resulting from misuse, abuse, negligence, accidents, normal wear, alteration, modification or repair 
without direct consultation with the manufacturer or it's authorized representative, or use in a manner other 
than that specified by the manufacturer.   
 
The inverter and solar panels are covered under the manufacturer’s warranty specific to those components. 
Documentation is provided in the BlueLink 480 accessory package. 
 
Bluelink Solar Network LLC, Inc assumes no responsibility for indirect, incidental or consequential damages. 
 
 

Bluelink Solar Network LLC  
25 Limerick Rd. Su. 1 
Arundel, ME 04046 

Website: www.bluelinksolar.net 
Email:    info@bluelinksolar.net 



Blue Link Solar Network LLC 
25 Limerick Rd 

Arundel, ME 04046 
 

www.bluelinksolar.net 


